Measurement of Capacity (Volume)

1. Fill in the blanks.

a. The standard unit of capacity is . Its symbol is

b. Alitreis divided into 100 equal parts. Each part is called a . Its symbol is

c. milliliters make 1 meter.
d. 4000 ml= L.

e. 2L= mil.

f. 5000I= kl.

2. Add the following:

a.

2.987Land 3.86 L
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b. 12.98 kl and 13.019 ki
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3. Subtract:

a.4.9Lfrom6.783 L b. 2.98 kl from 3.109 kIl
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4. Multiply:

a. 3465 kl by 15
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5. Divide:
a.996 ml by 12
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b.35.14 Lby 14
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b. 204.8 ki by 16
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6. The capacity of two overhead tanks is 4700 L and 6300 L. What is the total capacity of

the two tanks in kl?
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7. Express the following in terms of litres.

a.43172 ml
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b. 871495 ml
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